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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V ijh{kk&2025 

( ANNUAL / Okkf’kZd ) 

GEOGRAPHY ( ELECTIVE ) 

Hkwxksy ¼ ,sfPNd ½ 
I.A. ( Theory / lS)kafrd ) 

      dqy ç”u : 70+20+6 = 96    
Total Questions  : 70+20+6 = 96         
 (le; : 3 ?kaVs 15 feuV)       (iw.kkZad :100)  
[Time : 3 Hours 15 Minutes]      [Full Marks:100]  
  

ijh{kkfFkZ;ksa ds fy, funsZ'k%  

Instructions for the candidates: 

1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj&i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in their own words as far as 
practicable. 

3. nkfguh vksj gkf”k;s ij fn;s gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks.  
4. ç'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjä le; fn;k 

x;k gSA 

15 minutes of extra time have been allotted for the candidates to read the 

questions carefully. 

5. ;g ç'u iqfLrdk nks [k.Mksa esa gS – [k.M&v ,oa [k.M&c 

This Question booklet divided into two sections- SECTION-A and 
SECTION-B. 

323 fo"k; dksM% 
Subject Code: 
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6. [k.M&v esa 70 oLrqfu"B iz'u gS] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk vfuok;Z gSA 35 iz'uksaa 

ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu gksxkA izR;sd iz'u ds fy, 1 vad fu/kkZfjr 

gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s x, 𝑂𝑀𝑅 mÙkj&i=d esa fn, x, lgh fodYi 

dks uhys@dkys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu 

vkfn dk 𝑂𝑀𝑅 mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In SECTION- A, there are 70 objective type questions, out of which any 35 

questions are to be answered. If more than 35 questions are answered, then 

only first 35 answers will be evaluated. Each question carries 1 mark. For 

answering these darken the circle with blue/ black ball pen against the correct 

option on OMR Answer sheet provided to you. Do not use Whitener 

/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the result will be 

invalid. 

7. [k.M& c esa 20 y?kqmÙkjh; iz'u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSA ftuesa ls 

fdUgha 10 iz'uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 06 nh?kZ 

mÙkjh; iz'u fn, x, gSa] izR;sd ds fy, 05 vad fu/kkZfjr gSaA ftuesa ls fdUgha 03 

iz'uksa ds mÙkj nsuk vfuok;Z gSA 

In SECTION- B, there are 20 Short Answer Type Questions, Each question 

carrying 2 marks, out of which any 10 questions are to be answered. Apart  

from these, there are 06 Long Answer Type Questions, each carrying 5 marks, 

out of which any 3 questions are to be answered. 

 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M & v / SECTION-A 

oLrqfu"B ç'u / Objective Type Questions 

 

ç'u la[;k 1 ls 70 rd ds ç'u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d lgh 

gSA fdUgha 35 ç'uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹  'khV ij 

fpfºur djsaA                        𝟑𝟓 × 𝟏 = 𝟑𝟓 

Questions nos. 1 to 70 have four options, out of which only one is correct. Answer 

any 35 questions. You have to mark your selected option on the OMR-sheet. 

               35 × 1 = 35 

1. fuEufyf[kr esa ls dkSu ekuo Hkwxksy dk mixke gS\ 

(A) {ks=h; fofHkUurk (B) LFkkfud laxBu 

(C) vUos"k.k ,oa o.kZu (D) buesa ls lHkh 

Which of the following is an approach to Human geography? 

(A) Areal differentiation  (B) Spatial organisation 

(C) Exploration and description  (D) All of these 

2. lSU; Hkwxksy ekuo Hkwxksy ds fdl {ks= ls lacaf/kr gS\ 

(A) lkekftd Hkwxksy  (B) jktuhfrd Hkwxksy 

(C) uxjh; Hkwxksy (D) vkfFkZd Hkwxksy 

Military geography is related to which field of Human geography? 

(A) Social geography  (B) Political geography 

(C) Urban geography (D) Economic geography 

3.  Qscsz lEcfU/kr gS% 
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(A) laHkookn ls (B) fu”p;okn ls 

(C) ekuorkokn ls (D) buesa ls dksbZ ugha 

Febvre is associated with: 

(A) Possibilism  (B) Determinism  

(C) Humanism  (D) None of these 

4. fuEufyf[kr egk}hiksa esa ls fdlesa tula[;k o`f) nj lokZf/kd gS\ 

(A) ,f'k;k (B) ;wjksi 

(C) vÝhdk (D) nf{k.k vesfjdk 

Which of the following continents has the highest growth rate of 

population? 

(A) Asia (B) Europe 

(C) Africa (D) South America 

5. buesa dkSu l?kure tula[;k ?kuÙo okyk {ks= gS\  

(A) nf{k.k&iwoZ ,f'k;k (B) if'peh ;wjksi 

(C) mÙkj&iwoZ mÙkjh vesfjdk (D) nf{k.k&if'pe vfÝdk 

Which of these has the highest density of popular?  

(A) South-East Asia (B) Western Europe 

(C) North-East North America (D) South-West Africa 

6. tula[;k forj.k dks çHkkfor djus okyk lcls egRoiw.kZ dkjd dkSu gS\ 

(A) Hkw&vk—fr (B) feêh  

(C) tyok;q (D) buesa ls lHkh 
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Which is the important factor influencing the distribution of population? 

(A) Landforms (B) Soil  

(C) Climate  (D) All of these 

7. fuEufyf[kr ns'kksa esa ls fdldk fyaxkuqikr lokZf/kd gS \ 

(A) Hkkjr (B) phu 

(C) tkiku  (D) ySVfo;k 

Which of the following countries has the highest sex ratio? 

(A) India (B) China 

(C) Japan (D) Latvia 

8. fuEufyf[kr ns'kksa esa fdlesa çlUurk dks çxfr dk eki ekuk x;k gS\ 

(A) Hkkjr (B) tkiku 

(C) HkwVku (D) :l 

In which of the following countries happiness is considered as the 

measurement of progress? 

(A) India (B) Japan 

(C) Bhutan (D) Russia 

9. vk;q&fyax fijkfeM dk lEcU/k gS% 

(A) iq#"k ,oa efgyk tula[;k ls  (B) tula[;k ?kuÙo ls 

(C) tulajP;k lk{kjrk ls (D) buesa ls dksbZ ugha 

Age-sex pyramid is associated with:  

(A) Male and female population  (B) Density of population  
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(C) Literacy of population  (D) None of these 

10. fuEu esa ls dkSu ,dy Ñf’k dk mRikn gS\ 

(A)  dsyk (B)  pk; 

(C)  jcM+ (D)  buesa ls lHkh 

Which of the following is a product of monoculture? 

(A) Banana  (B) Tea  

(C) Rubber  (D) All of these 

11.  fuEu esa ls dkSu çkFkfed fØ;kdyki ls lEcfU/kr gS\ 

(A) Ñf’k (B) okfudh 

(C) vk[ksV (D) buesa ls lHkh 

Which of the following is associated with primary activity? 

(A) Agriculture (B) Forestry 

(C) Hunting (D) All of these  

12. jcM+ fdl&çdkj dh —f"k mit gS\ 

(A) fefJr —f"k (B) çkfEHkd LFkk;h —f"k 

(C) jksi.k —f"k+ (D) Hkwe/;lkxjh; —f"k 

Rubber is the product of which type of farming? 

(A) Mixed Farming (B) Primitive sedentary 

Farming  

(C) Plantation Farming (D) Mediterranean Farming 

13. fuEufyf[kr esa fdls drZu&ngu —f"k Hkh dgrs gS\ 
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(A) liu fuokZg —f"k (B) vkfne fuokZg —f"k 

(C) foLrr̀ okf.kT; vukt —f"k  (D) fefJr —f"k 

Which among the following is also called slash burn agriculture? 

(A) Intensive subsistence 

fawning  

(B) Primitive subsistence 

farming 

(C) Extensive commercial 

grain farming 

(D) Mixed farming 

14. foLrr̀ O;kikfjd vukt& mRiknd —f"k ugha dh tkrh gS%  

(A) iEikl {ks= esa (B) vestu csflu esa 

(C) çs;jht {ks= esa (D) LVSiht {ks= esa 

Extensive commercial grain farming is not practised in: 

(A) Pampas (B) Amazon basin 

(C) Prairies (D) Steppes 

15. czkthy ds d‚Qh {ks= dks dgk tkrk gS% 

(A) Qsts.Mk (B) >we 

(C) feYik (D) yknkax 

The coffee region of Brazil is called: 

(A)   Fazenda  (B)   Jhum 

(C)   Milpa (D)   Ladang  

16.  fuEufyf[kr esa ls dkSu jksi.k Ñf’k dk mRikn ugha gS\ 

(A) pk; (B) d‚Qh 
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(C) xUuk (D) xsgw¡ 

Which of the following is not a product of plantation farming?  

(A)   Tea (B)   Coffee 

(C)   Sugarcane (D)   Wheat 

17.  buesa ls dkSu v/kkfRod [kfut ij vk/kkfjr gS\  

(A) Rkk¡ck m|ksx (B) ,Y;qfefu;e m|ksx  

(C) lhesaV m|ksx (D) buesa ls dksbZ ugha 

Which of these is based on non-metallic mineral?  

(A) Copper industry  (B) Aluminium industry 

(C) Cement industry (D) None of these 

18.  cfeaZ?ke dgk¡ gS\ 

(A) ukosZ (B) xzsV fcVªsu   

(C) teZuh  (D) Ýkala 

Where is Birmingham? 

(A)   Norway (B)   Great Britain  

(C)   Germany  (D)   France 

19. fuEufyf[kr esa dkSu vkS|ksfxd voLFkkiuk dk çeq[k dkjd gSa\ 

(A) iw¡th (B) cktkj  

(C) ÅtkZ  (D) buesa ls lHkh 

Which of the following is the main factor of industrial location? 

(A)   Capital (B)   Market 
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(C)   Energy  (D)    All of these 

20. mPp Lrj okys vUos"k.kk ls lEcfU/kr fØ;kdykiksa dks dgk tkrk gS% 

(A) f}rh;d fØ;kdyki (B) prqFkZ fØ;kdyki 

(C) iape fØ;kdyki (D) buesa ls dksbZ ugha 

Activities related to high level of innovation are called  

(A)   Secondary activities  (B)   Quaternary activities  

(C)   Quinary activities (D)   None of these 

21. fuEufyf[kr esa ls dkSu iape fØ;kvksa ls lEcfU/k gS\ 

(A)   [ksrh (B)   vk[ksV  

(C)   lsok,¡ (D)   ijke'kZnkrk 

Which of the following is associated with quinary activities? 

(A)   Farming (B)   Hunting  

(C)   Services (D)   Consultants 

22. fuEufyf[kr esa dkSu is”kkxr d‚yj dk jax ugha gS\ 

(A) yky (B) dkyk 

(C) uhyk (D) xqykch 

Which of the following is not the colour of occupational collar? 

(A)   Red (B)   Black 

(C)   Blue (D)   Pink 

23. fuEufyf[kr esa dkSu —f"k vk/kkfjr m|ksx gS\  

(A) lhesaV m|ksx (B) yksgk vkSj bLikr m|ksx 
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(C) twV m|ksx (D) peM+k m|ksx 

Which of the following is an agro based industry?  

(A) Cement industry (B) Iron and steel industry 

(C) Jute industry (D) Leather industry 

24.  ehVj xst jsy ykbu dh pkSM+kbZ fdruh gksrh gS\ 

(A) 1-6 ehVj (B) 1-7 ehVj 

(C) 1-5 ehVj (D) buesa ls dksbZ ugha 

What is the width of metre gauge rail line? 

(A)   1.6 m (B)   1.7 m 

(C)   1.5 m (D)   None of these 

25. fcx bap lacaf/kr gS\ 

(A) jsy ekxZ (B) ok;qekxZ ls 

(C) tyekxZ ls (D) ikbiykbu ls 

The Big inch is related to: 

(A)   Railway (B)   Airway 

(C)   Waterway (D)   Pipeline 

26. fo'o ds çeq[k leqæh iÙku fuEufyf[kr esa fdl çdkj ds gSa\ 

(A) ukSlsuk iÙku (B) rsy iÙku 

(C) foLrr̀ iyu (D) vkS/kksfxd iÙku 

World's main sea ports belong to which of the following types? 

(A)   Naval ports (B)   Oil ports 
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(C)   Comprehensive port (D)   Industrial port 

27.  VªkUl&egknhih; LVqvVZ egkekxZ tksM+rk gSA 

(A) oSadwoj dks lsaV tksUl ls  (B) MkfoZu dks esycksuZ ls 

(C) ,MeksUVu dks ,adkWjst  (D) psaxMw dks Ygklk ls 

The Trans-continental Stuart Highway connects: 

(A) Vancouver with St. John (B) Darwin with Melbourne 

(C) Edmonton with Anchorage (D) Chengdu with Lhasa 

28.  ,;j bf.M;k lEcfU/kr gS% 

(A) baVjusV ls (B) mixzg ls 

(C) egkekxZ ls   (D) ok;q ekxZ ls 

Air India is associated with: 

(A) Internet (B) Satellite 

(C) Highway (D) Airway 

29.  fo'o O;kikj laxBu ¼𝑊𝑇𝑂½ dh LFkkiuk dc gqbZ \ 

(A) 1948 (B) 1995 

(C) 2000 (D) 2005 

When was the World Trade Organisation (WTO) established? 

(A)   1948 (B)   1995 

(C)   2000 (D)   2005 

30. vksisd ¼vkxsZukbts'ku vkWQ isVªksfy;u ,DliksfVZx daVªht½ dk eq[;kye dgk¡ gS\ 

(A) fo;uk (B) tdkrkZ 
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(C) guksbZ  (D) tsusok 

Where is the headquarters of OPEC (Organisation of Petroleum 

Exporting countries)? 

(A)   Vienna (B)   Jakarta 

(C)   Hanoi (D)   Geneva 

31. Hkkjr lnL; gS% 

(A) lk¶Vk dk (B) vks bZ lh Mh dk 

(C) vkfl;ku dk (D) vksisd dk 

India is a member of : 

(A)   SAFTA (B)   OECD 

(C)   ASEAN (D)   OPEC 

32. nks ns'kksa ds e/; O;kikj dgykrk gS% 

(A) varnsZ'kh; O;kikj (B) oká O;kikj 

(C) LFkkuh; O;kikj (D) varjkZ"Vªh; O;kikj 

Trade between two countries is termed as:- 

(A)   Internal Trade (B)   External Trade 

(C)   Local Trade (D)   International Trade 

33.  lM+d ds lgkjs fdl Áfr:i dh cLrh feyrh gS \ 

(A) xksykdkj (B) vk;rkdkj 

(C) js[kh; (D) lh<+huqek 

Which pattern of settlement is found along a road? 
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(A)   Circular  (B)   Rectangular 

(C)   Linear (D)   Terraced  

34.  lUuxj 'kCn dk ç;ksx fdlus fd;k Fkk\ 

(A) iSfVªd fxfMt  (B) fxzfQFk Vsyj  

(C) fVªokFkkZ  (D) thu xksVesu 

Who had coined the Word Conurbation? 

(A)   Patrick Geddes (B)   Griffith Taylor 

(C)   Trewartha (D)   Jean Gottman 

35.  fefy;u flVh dh tula[;k gksrh gS% 

(A) ,d yk[k ls de (B) ik¡p yk[k ls de 

(C) nl yk[k ls vf/kd (D) nl yk[k ls de 

The population of million city is: 

(A)   Less than one Lac (B)   Less than five lacs 

(C)   More than ten lacs (D)   Less than ten lacs 

36. fdl Hkk"kkbZ ifjokj dh Hkkjr esa tula[;k lcls de gS\ 

(A) æfoM (B) Hkkjrh; & ;wjksih; 

(C) phuh&frCcrh (D) vkfLVªd 

Which linguistic family has the lowest population in India? 

(A)    Dravidian (B)   Indo-European 

(C)   Sino-Tibetan (D)   Austric 
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37. 2011 dh tux.kuk ds vuqlkj] fuEufyf[kr jkT;ksa esa ls fdldh tula[;k dk 

?kuÙo lcls de gS\ 

(A) vle (B) v#.kkpy çns'k  

(C) flfDde   (D) fetksje 

According to census 2011, which of the following states has the lowest 

density of population? 

(A)   Assam  (B)   Arunachal Pradesh 

(C)   Sikkim  (D)   Mizoram 

38. 2011 dh tux.kuk ds vuqlkj Hkkjr esa tula[;k dk ?kuÙo gSA 

(A) 810 O;fä @ oxZ fdeh- (B) 382 O;fä @ oxZ fdeh- 

(C) 282 O;fä @ oxZ fdeh-  (D) 362 O;fä @ oxZ fdeh- 

According to 2011 census the density of population in India is: 

(A)   810 persons / sq. km. (B)   382 persons / sq. km. 

(C)   282 persons / sq.km.  (D)   362 persons / sq.km. 

39. Hkkjr esa tux.kuk dk "egku foHkktd" o"kZ dkSu gS\  

(A) 1951 (B) 1931 

(C) 1921 (D) 1971 

Which year is the "great divide" in Indian census? 

(A)   1951 (B)   1731 

(C)   1921 (D)   1971 

40. fuEufyf[kr jkT;ksa esa fdldk 0&6 vk;q oxZ esa fuEure gS \ 
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(A) gfj;k.kk (B) xqtjkr 

(C) iatkc (D) fgekpy çns'k 

Which of the following states has the lowest sex ratio in the age-group of 

0-6 years? 

(A)   Haryana (B)   Gujarat 

(C)   Punjab  (D)   Himachal Pradesh 

41. 2011 dh tux.kuk ds vuqlkj fuEufyf[kr jkT;ksa esa ls fdlesa uxjh; tula[;k 

dk vuqikr lokZf/kd gS \ 

(A) rfeyukMq (B) egkjk’Vª 

(C) xksok  (D) dsjy 

Which of the following states has the highest proportion of urban 

population according to 2011 census? 

(A)   Tamil Nadu (B)   Maharashtra 

(C)   Goa   (D)   Kerala 

42. ekuo fodkl lwpdkad esa Hkkjr ds fuEufyf[kr jkT;ksa esa ls fdl dh dksfV 

mPpre gS\ 

(A) dsjy (B) iatkc  

(C) rfeyukMq (D) gfj;k.kk 

Which of the following States of India has the highest rank of Human 

Development Index? 

(A)   Kerala (B)   Punjab  
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(C)   Tamil Nadu (D)   Haryana 

43.  flaxjsuh gS% 

(A) jkt/kkuh uxj (B) [kuu uxj 

(C) i;ZVd uxj (D) buesa ls dksbZ ugha 

Singareni is : 

(A)   Capital town (B)   Mining town 

(C)   Tourist town (D)   None of these 

44. cqansy[kaM çns'k esa fdl çdkj dh xzkeh.k cfLr;k¡ ik;h tkrh gSa\  

(A) iYyh cfLr;k¡ (B) xqfPNr cfLr;k¡ 

(C) çfodh.kZ cfLr;k¡ (D) buesa ls lHkh 

Which types of rural settlement found in Bundelkhand region? 

(A)   Hamleted settlements  (B)   Clustered settlements 

(C)   Dispersed settlement  (D)   All of these 

45. xkft;kckn ,d mnkgj.k gS% 

(A) çkphu uxj dk (B) e/;dkyhu uxj dk  

(C) vk/kqfud uxj dk  (D) vuq"kaxh uxj dk 

Ghaziabad is an example of: 

(A)   Ancient town (B)   Medieval town 

(C)   Modern town  (D)   Satellite town 

46. Hkkjr esa lokZf/kd tula[;k okyk esxkyksiksfyl dkSu gS\ 

(A) eqEcbZ (B) fnYyh 
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(C) dksydkrk (D) psUubZ 

Which megalopolis has the highest population in India?  

(A) Mumbai (B) Delhi 

(C) Kolkata (D) Chennai 

47. fuEufyf[kr esa dkSu Hkw&mi;ksx laoxZ ugha gS\ 

(A) ijrh Hkwfe (B) fuoy cks;k {ks= 

(C) lhekar Hkwfe —f"k  (D) ;ksX; O;FkZ Hkwfe 

Which of the following is not a land use category? 

(A)   Fallow land  (B)    Net sown area 

(C)   Marginal land (D)    Cultivable waste land 

48. fuEufyf[kr esa dkSu Hkkjrh; —f"k dh leL;k gS\ 

(A) fuEu mRikndrk  (B) fo[kafMr tksr 

(C) vfu;fer ekulwu  (D) buesa ls lHkh 

Which of the following is the problem of Indian agriculture? 

(A)   Low productivity (B)   Fragmented 

landholdings 

(C)   Erratic monsoon  (D)   All of these 

49. Hkkjr esa loZçeq[k twV mRiknd {ks= dkSu gS\ 

(A) xaxk MsYVk (B) —".kk MsYVk 

(C) xksnkojh MsYVk  (D) buesa ls dksbZ ugha 

Which is the most important jute producing region in India? 
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(A)   Gonga delta (B)   Krishna delta 

(C)   Godavari delta (D)   None of these 

50. gfjr Økafr lEcfU/kr gS% 

(A) [kk|kUu mRiknu ls (B) pk; mRiknu ls 

(C) nw/k mRiknu ls (D) buesa ls dksbZ ugha 

Green revolution is related to: 

(A) Food production (B) Tea production 

(C) Milk production (D) None of these 

51. ik;dkjk tyfo|qr ifj;kstuk dgk¡ gS\ 

(A) rfeyukMq esa (B) iatkc esa 

(C) >kj[kaM esa  (D) vle esa 

Where is the Pykara hydroelectric project ? 

(A) Tamil Nadu (B) Punjab 

(C) Jharkhand  (D) Assam 

52.  fuEufyf[kr esa dkSu if'peh Hkkjr dh unh csflu gS\ 

(A) ekgh csflu (B) xaxk csflu 

(C) lksu csflu (D) dkslh csflu 

Which of the following is the river basin of western India? 

(A) Mahi basin (B) Ganga basin 

(C) Son basin (D) Kosi basin 

53. fuEukfyf[kr esa dkSu lcls NksVh csflu gS\ 
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(A) xksnkojh csflu (B) —".kk csflu 

(C) ueZnk csflu (D) rkih csflu 

Which of the following is the smallest & basin? 

(A) Godavari basin (B) Krishna basin 

(C) Narmada basin (D) Tapi basin  

54. Hkkjr esa çFke ukfHkdh; ÅtkZ ifj;kstuk dgk¡ LFkkfir dh xbZ Fkh\ 

(A) ujksjk esa (B) dyiDde esa 

(C) rkjkiqj esa (D) dSxk esa 

Where was the first atomic power project established in India? 

(A) Narora (B) Kalpakkam 

(C) Tarapur  (D) Kaiga 

55. uksvkeqaMh ykSg v;Ld {ks= fdl jkT; esa gS\ 

(A) egkjk"Vª  (B) e/; çns'k  

(C) >kj[kaM  (D) Nrhlx<+  

Noamundi iron ore region is in which state? 

(A) Maharashtra (B) Madhya Pradesh 

(C) Jharkhand  (D) Chhattisgarh  

56. fuEufyf[kr jkT;ksa esa dkSu xksaMokuk dks;yk ds fy, çfl) gS\ 

(A) ukxkyS.M (B) rfeyukMq 

(C) >kj[k.M (D) f=iqjk 

Which of the following states is famous for Gondwana coal? 
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(A) Nagaland (B) Tamil Nadu  

(C) Jharkhand (D) Tripura 

57. fuEufyf[kr jkT;ksa esa ls fdlesa ls çeq[k rsy {ks= fLFkr gS \ 

(A) jktLFkku (B) fcgkj 

(C) vle (D) rfeyukMq 

In which of the following states are the major oil fields located? 

(A) Rajasthan (B) Bihar 

(C) Assam (D) Tamil Nadu 

58. iapiVekyh [kku fdl [kfut ls lEcfU/kr gS\ 

(A) lksuk (B) ;wjsfu;e 

(C) isVªksfy;e (D) c‚DlkbV 

Panchpatmali mine associated with which mineral?  

(A) Gold (B) Uranium 

(C) Petroleum (D) Bauxite 

59. fuEufyf[kr jkT;ksa esa fdlesa dSxk ukfHkdh; ÅtkZ dsUæ vofLFkr gS\ 

(A) mÙkj&çns'k (B) egkjk"Vª 

(C) dukZVd (D) xqtjkr 

In which of the following states Kaiga atomic power centre is located? 

(A) Uttar Pradesh (B) Maharashtra 

(C) Karnataka (D) Gujarat 

60. cSykMhyk fdl [kfut ds fy, çfl) gS\  
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(A) ykSg v;Ld  (B) dks;yk  

(C) rk¡ck  (D) vHkzd  

Bailadila is famous for which mineral? 

(A) Iron ore (B) Coal 

(C) Copper (D) Mica 

61. gqxyh vkS|ksfxd çns'k dk foLrkj gS% 

(A) dksydkuk ls gkoM+k rd      (B) dksydkrk ls esfnuhiqj rd 

(C)   ck¡lcsfj;k ls fjljk rd      (D) ck¡lcsfj;k ls fcM+ykuxj rd 

The extent of Hugli industrial region is:  

(A) Kolkata to Howrah  (B) Kolkata to Medinipur 

(C) Bansberia to Risra (D) Bansberia to Birlanager 

62.  jkmjdsyk bLikr la;a= fdl jkT; esa vofLFkr gS\ 

(A) if'pe caxky esa (B) jktLFkku esa 

(C) vksfM'kk esa (D) >kj[k.M esa 

Rourkela steal Plant is located in which state?  

(A) West Bengal (B) Rajasthan 

(C) Odisha (D) Jharkhand 

63. gFkdj?kk m/kksx gS% 

(A) vk/kkjHkwr m|ksx (B) dqVhj m|ksx 

(C) LoPNan m|ksx (D) buesa ls dksbZ ugha 

Handloom industry is: 
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(A) Basic industry (B) Cottage industry 

(C) Footloose industry (D) None of these 

64. HkjekSj tutkrh; {ks= lEcfU/kr gS% 

(A) xn~nh ls (B) elkbZ ls 

(C) csank ls (D) buesa ls dksbZ ugha 

Bharmaur tribal region is associated with: 

(A) Gaddi (B) Masai 

(C) Benda (D) None of these 

65. uh: & eh: lEcfU/kr gS% 

(A) tylaHkj çca/ku ls (B) flapkbZ çca/ku ls 

(C) çnw"k.k&çca/ku ls (D) i;kZoj.k çca/ku ls 

Niru-Miru is related to: 

(A) Watershed management  (B) Irrigation management 

(C) Pollution management  (D) Environmental 

management 

66.  vEy o"kkZ dk D;k dkj.k gS 

(A) ty çnw"k.k  (B) /ofu çnw"k.k 

(C) ok;q çnw"k.k (D) Hkwfe çnw"k.k 

What is the cause of acid rain? 

(A) Water pollution (B) Noise pollution 

(C) Air population (D) Land pollution 
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67. iwoZ&if'pe xfy;kjk tksM+rk gS% 

(A) dksydkrk dks fnYyh ls  (B) xqokgkjh dks ikyuiqj ls 

(C) dkuiqj dks iksjcUnj ls  (D) flypj dks iksjcUnj ls 

East-West corridor connects: 

(A) Kolkata with Delhi (B) Guwahati with 

Palanpur 

(C) Kanpur with Porbandar  (D) Silcher with Porbandar 

68. eaxyksj iÙku dgk¡ gS\ 

(A) rfeyukMq  (B) if”pe caxky 

(C) dukZVd  (D) xqtjkr 

Where is Mangalore port? 

(A) Tamil Nadu (B) West Bengal 

(C) Karnataka (D) Gujarat 

69.  Hkkjr esa igyk jsfM;ks dk;ZØe dc çlkfjr gqvk Fkk\ 

(A) 1936 (B) 1911 

(C) 1929 (D) 1923 

When was the first radio programme in India was broadcast in? 

(A) 1936 (B) 1911 

(C) 1929 (D) 1923 

70. ioZrh; {ks= fodkl dk;Zjde dh 'kq#vkr fd, iapo"khZ; ;kstuk esa gqbZ Fkh\ 

(A) rhljh (B) pkSFkh 
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(C) ikSpoha (D) NBh 

Hill Area Development Programme was initiated in which five year plan? 

(A) Third (B) Fourth 

(C) Fifth (D) Sixth 

 

[kaM&c @ SECTION-B 

y?kq mÙkjh; ç'u @Short Answer Type Questions 

ç'u la[;k 1 ls 20 rd  y?kq mÙkjh; gSa A buesa ls fdUgha 10 ç'uksa ds mÙkj nsaA çR;sd 

ç'u ds fy, 2 vad fu/kkZfjr gSA      𝟏𝟎 × 𝟐 = 𝟐𝟎 

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each 

question carries 2 marks.                             10 × 2 = 20 

 

1. ekuo Hkwxksy dks ifjHkkf"kr dhft,A       2 

Define Human geography. 

2. tula[;k ifjorZu ds nks ?kVdksa ds uke fyf[k,A     2 

Write the names of two components of population change. 

3. fyax&vuqiku dSls ekik tkuk gS\       2 

How is sex-ratio measured? 

4. ekuo fodkl lwpdkad ls vki D;k ledrs gSa\     2 

What do you mean by Human Development Index? 

5. foLrr̀ okf.kT; vukt —f"k dh fdUgha pkj Qlyksa ds uke fyf[k,A  2 

Write the names of any four crops of extensive commercial grain 

farming.  

6. dPps ekyksa ds vk/kkj ij m|ksxksa dks oxhZ—r dhft,A    2 

Classify industries on the basis of raw materials. 

7. pkj iape fØ;kdykiksa dk mYys[k dhft,A      2 

Mention four quinary activities. 
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8. Lost ugj fdu nks fudVorhZ iÙkuksa dks tksM+rh gS\    2 

Suez Canal connects which two neighbouring ports? 

9. fo'o O;kikj laxBu dk eq[; mís'o D;k gS \     2 

What is the main objective of World Trade Organisation? 

10. xzkeh.k vf/koklksa ds fdUgha pkj çfr:iksa dk mYys[k dhft,A   2 

Mention any four patterns of rural settlements. 

11. dkf;d ?kuÙo D;k gS\         2 

What is physiological density? 

12. 2011 dh tux.kuk ds vuqlkj Hkkjr esa çeq[k O;kolkf;d laoxZ D;k gS\  2 

What are the major occupation categories as per 2011 census of India? 

13. fuoy cks;k x;k {ks= rFkk ldy cks;k x;k {ks= esa vUrj Li"V djsaA   2 

Distinguish between Net sown Area and Grass Cropped Area 

14. Hkkjr ds pkj e/;dkyhu uxjksa ds uke fyf[k,A     2 

Write the names four medieval cities of India. 

15. Hkkjr ds pkj ykSg v;Ld mRiknd jkT;ksa ds uke fyf[k,A   2 

Write the names of four iron ore producing states of India 

16. Hkkjr ds pkj çeq[k ukfHkdh; ÅtkZ dsUæksa ds uke fy[ksaA    2 

Write the names of four important nuclear power centres of Indie. 

17. ifjogu ds rhu çeq[k çdkjksa ds uke crk,¡A     2 

Name three major modes of transportation.  

18.  Hkkjr dh fdUgha pkj [kjhQ Qlyksa ds uke fyf[k,A     2 

Write the names of any four kharif crops of India. 

19. Hkkjr ds if'peh rV ij vofLFkr pkj iUruksa ds uke fyf[k,A   2 

Write the names of four ports located on the western coast of India. 

20. eqä vkdk'k uhfr D;k gS \        2 

What is open sky policy? 

 

nh?kZ mÙkjh; ç'u / Long Answer Type Questions 
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ç'u la[;k 21 ls 26 nh?kZ mÙkjh; gSaA fdUgha rhu ç'uksa ds mÙkj nsaA çR;sd ds fy, 5 

vad fu/k/kkZfjr gSaA         𝟑 × 𝟓 = 𝟏𝟓 

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions. 

Each question carries 5 marks.            3 × 5 = 15 

21. jksi.k —f"k dh fo'ks"krkvksa dk o.kZu dhft,A     5 

Describe the characteristics of plantation agriculture. 

22. tukafddh; laØe.k fl)kUr dh foospuk dhft,A    5 

Discuss the demographic transition theory.  

23. vUrjjk"Vªh; O;kikj esa mÙkjh vVykafVd leqæh ekxZ ds egÙo dh foospuk 

dhft,A           5 

Discuss the importance of North Atlantic Ocean route in international 

trade. 

24. Hkkjrh; —f"k dh leL;kvksa dh foospuk dhft,A     5 

Discuss the problems of Indian agriculture. 

25. Hkkjr ds vkfFkZd fodkl esa lM+dksa dh Hkwfedk dk o.kZu dhft,A  5 

Describe the importance of road in the economic development of India. 

26. Hkkjr dk ekufp= cukb, vkSj fuEufyf[kr dks çnf'kZr dhft,%   5 

(A) gSnjkckn 

(B) dU;kdqekjh 

(C) x;k 

(D) t;iqj 

(E)   xksnkojh unh 
 

Draw a map of India and show the following: 

(A) Hyderabad 

(B) Kanyakumari  

(C) Gaya 

(D) Jaipur 
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(E)   Godawari River 

 


